BINRE YIR—FTUV R

a2 NFREEE

il EREFICONT
SDDORAEMTREAK D,
< RECNLREDBSR

RE, RE, IRE. 58
CDADDOBE, 1DBDHSRNEE

v=vy+at
< RE B (REEE DRIR
x = vyt +—at?
0" "2

< REEERMIDRIR

ZI (BERE DN DRNEE

RE, RE, ZRIENDN > TUNDHN

piE2
MRE8OM/sDENNLREO0.5m/sT
3OMEmRLEZ, COBDBENREEE
KHK,

0%

BhIERHDEETY,

MRE] MRE) 6S-E1 D
HN>TNT. ERL BHHSENDT.
RE CZRDRERO

— 2
X = vyt + 5 at
EENET,
DEO2EITEFRELF L&D,

1
x=8.0x3.0+§x0.5x3.02

v? — vi = 2ax R o
BEMODSBENEEZEZOAT
UE
(1) ¥EE6.0m/sTED TULNEEN, (2) 10.0m/sTED>TUVEEN. IRE-2.5m/s
ILHRE2.0m/sTILR U, TR UIZ, BT DDEAMEN ?
SOMEDREENISD?

0%

BOAE—RFHIEAEARIZDFET,
AE= RO ENDEH—FRSIE
ZORESFHETKDDCENTEET,

MRE] ThRE] 65/ D

DHRO>TNBDT, REEIMREDBEROAI

U= U0+at

ZE > CREZERDIT,

v=6.0+20X30=90m/s

0

RIEICIHEELET,
FEROT, REM M20OJ [CEDFT,

NRE] MRE] MnREl D
DN>TNSDT, RECINREDBIHRDOAT

v = U0+at

ZE > TREERDET.
IREDNV A FRIETELE,
ANOBEHICTFRLE UL D,

0=100-25Xt
-10=-256Xt
t =40s

BORAE—RHIEAEAELZDIETT,

=24.0+ 2.25
=26.25m
BIE3
X8 = —FEDINRE CEENT DIIANY, QORATDXEZEERD K,

t=0s CTRRZERE10.0m/sTHEB LIZE,

x=16MMDRZRES.Om/sT@ad Uiz,
OHATMARISHRATITDRL, ZO%
BmE@aUIre,

OIMAEDILREZERD K,

B RRCOEREEFE[H. x=16TODREL
DO TNFIHN BEONHDDFE A,
COXRIBBEIR REEZMDI

2

v? — vi = 2ax

ZfE0\ IREZRDET,
6.02 — 10.02=2xax 16
36 —100=2xax16
—64=2Xax16

a=-2.00m/s?

& RATHORLTNDDT,
RATOREIFELOTT,
RE ENLREDBEROAN SHEZ
ked, RECEROBRONICHED=E
HRALUTGHEI D CEETEET,
SOIRECENMONTHELET,
v? — v3 = 2ax
02 —10.02 = 2 x (=2.0) X x
—100 = —4.0x
x =25(m)

ff?“—&@%%&é@ﬁﬁ FANHN

RV FILL
ZOT7) VORI FEEE

=)

2L Th
N /




